B.A/ B.Sc 6% Semester (Honours) Examination, 2021(CBCS)
Subject: Economics
Paper: DSE 3
SOCIAL ECONOMICS
Time: 3 Hours Full Mark: 60

The figure in the margin indicates full marks. Candidates are required to give their

answer in their own words as far as practicable
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1. Answer any six questions: 5x6=30

@ @I = ATaT Sed wre:

a) Education is a pillar of human capital formation - do you agree? If yes, then explain it
briefly.
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b) Write down the determinants of health.
FCZE P A fdapel @

c) Explain how managed care system takes off the problem of moral-hazard in the health
insurance market?

=gy [ (@ e €' (moral hazards)-ad o (NFIE F19 (F0@ 'Managed Care
System'-a3 JIEFITS! PG 9 |

d) What do you mean by Cost - Effective Analysis (CEA)? What are the uses of CEA?
Cost Effective Analysis(CEA) J#10® & (JCIN? CEA “afs (I CH@ FICS AT A2

e) What are the most important indicators for Gender Empowerment Measure?
Gender-Empowerment Measures-93 F1Co ewgsd Fdawef & 6?2



f) What are the methods for measuring the burden of disease?

Burden of Disease 2RIt smafeaf & 52

g) What are the components of social economics?

A 9IS (Social Economics)-a3 wexafe 5 52

h) Where does India stand in human capital formation?
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2. Answer any three questions: 10x3=30
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a) What will be the role of education and health for creating human development?
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b) What is the most preferable index according to you, gender development index or
human development index? Argue with reasons.

CoIE WCo, ot S 5<% (Gender Development Index) SIl T o<F (Human
Development Index)-9d & (FI0 FCHF A=A IpP? (SN TSR 90 IS wie |

c) What is women empowerment? Briefly explain the factors which affect this type of
empowerment.

TAT-FTSTT (Women Empowerment) J#10® & (@FRA? (@ @ 7 TF-FTOIE
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d) Write down briefly Cost-Benefit analysis in case of health economics.
F5-9<NS (Health Economics)-3 CF@ W-?iﬁzﬁ (Cost-Benefit)-q ©Qb [ F4 |

e) What are the reasons for inefficiency in the health market? How can one be solved this
inefficiencies?
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Paper: DSE 3
OR
POLITICAL ECONOMY

1. Answer any six questions. 5x6 = 30

@ @9 =20 24reF Teg we

a) Discuss briefly chief features of classical economics.
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b) Explain the concept of Physiocracy.
) Physiocracy ¥ IS A T

c) Give brief statement of historical materialism.
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d) Define surplus value and briefly explain how it originates in capitalist mod of
production.
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e) Make out a distinction between labour and labour power following Marx.

8) NFEAE TP FC &N 8 &¥ *feg Neap AL I

f) Explain briefly Marxian concept of simple reproduction.
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g) Define Reserve army of labour and discuss about its different components.
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h) Distinguish between abstract labour and concrete labour as determinants of exchange

value and use value.
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2. Answer any three questions. 10x3 = 30
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a) Discuss Marx’s law of falling tendency of rate of profit.

F)NPER AoTHN JAFE FEH eFTold [FAB A 9 1

b) Discuss Rostow’s theory of stages of economic growth.
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c) Discuss “disproportionality” crisis in Marxian economics.

NAFAR AL “CT ST Tiee A5 KT SACeTba 74 1

d) Discuss briefly economic thoughts of Mahatma Gandhi.
Q)ACHCA T 9 9 GLATOF ST Ao

e) Define, following Marx, rate of exploitation and discuss in brief the ways of increasing
degree of exploitation.
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